A G LG &
Professional manufacturer of y A \ 3 - -
pneumatie pipe fittings

Qingdao Xiangchengde Machinery Co,,ltd . we are founding
in 2008 . the factory have 18 years history in metal

process . Base on our company equipment ,technician ,now
we have 3 serial of product :1ok-fitting, hydraulic fitting
and pneumatic fitting .

We are a professional manufacturer & exporter of
hydraulic hose, hydraulic fittings, hydraulic adapters, hose
crimping machine and other related products in China.
"Quality, Speed, Credit" is our company guide line. With
stable quality, timely delivery and competitive prices, our
products are widely used in construction machinery, coal
mining and power transmission industry, oil exploration,
forging metallurgy, ships, agricultural machinery and

various machines tools. Qingdao Xiangchengde Machinery Co.,ltd

Huashan 2 Road Jimo
Qingdao City
China




Professional manufacturer of pneumatic pi

Hudigsk ONE-TOUCH FITTINGS

4§ Features

ERBAERIEH, FLURS T QB FARE. (PL, PH PBSEE)
MEROEEEENTRE, MEthFRE.

PC SQARNE/BIRFIL, FLBGERRLZR SRS,

RO O BRI, PR RESNERATE R,

Ince size

i RRERLRW] Specifications
{ERTHE Air( No other gases or liquids)
ERES 0~150PS| 0~10Kgfiom’ (0~1000kPa )
RE -295nHg ~750mmHg ( 10Torr)
(EFBIREDEE 32~140° F -10~60C
e Polyurethane and nylon
P ibRETEAA Product code system
I -I
00
E@Ex/N (D)

Metric size
Code o4 [ 06 [ 08 10 | 12 ]
Dia 4 | 6 | 8 | w0 | 112 |

14 516 | 38 [ 1R
ET)

[ &6 | I

Size M5x0.8 | Méx1.0 R18

Code U10U NOTU NO2U NO3U NO4U
Size 10-32UNF NPT1/8 NPT3/8 | NPTIR2

01

Pdifsk ONE-TOUCH FITTINGS

PU U Z#247%5iE Union U

' ﬂ
s

PE T B2¥8§{=3& Union E

]

-
. W)

\\ff ?

SatEELREIER

a6

362

286

lag

472

184

499

PE4

188

PE6

Pe8

148

286

184

26

136

322

166

PG U BUgi2¥2E|#iE Reduce union U

4

SR

PG6-4

PG8-4

a3

l4g

PG8-6

a3

lag

PG10-6

184

PG10-8

462

184

PG12-8

21

PG12-10

21

PG16-10

92

PGL6-12

492




il ONE-TOUCH FITTINGS

PV L SN Union L

PY Y EEIH=ll Union Y

PW Y EIREEN=IR
Reduce union Y

03

sional manufacturer of pneumatic pipe fitt ngs

Mcxsed € - o0 L
P A u “ a2 ?
o] » n L3 " L]
a £ us . L ©
L tl] L » 43 2
iz £ a 2 43 ns
i L - » L] wE

o4 M3 -l u 4 a2
e ua " n . 22
pra 09 wa Las . 23
L] n ] e » a2
L] ns L] n ] a
e nr “ » » 5

e ¥ L} » ol ol o
P-4 148 w1 B . a2
. o1 we e I ) I 2
was o1 wa e [ a
Pwin-e ET - a L » J a

- - - | . - L ol

Pwio-8 » ® e » ]
PwI2-8 2t ] E l ] | ]
i
PWi3-10 ET] ® a © )
Pwis-12 = wa » l " l s

Prilified. ONE-TOUCH FITTINGS

PEG TEMH=lG Reduce 1

PZA X BISR{SE Union Z

i -
. i
Yy
#
PK MER UnonK
—_
_-K}I'IT;E-F

SANERLE L Hi%

» ®a L] B . 2
L) 23 - L] “e L] a2
L g ns £l v uE L] 2

v

ACL-8 s L o na B a2

e - 2 a4 n a2
WGL2-8 He - as = R a2
Ao e L as o 2 @
Gls 12 us e L] » » L]

Tas e T un £
L2 B3 . =l a
PIAR =8 ¢ . 2
FIALD E L) u w4 az
PTAL »e ns n 43

wa Sar =8 L] n w2 L
. L «@v as L e E-H a2
L] e o8 u e s a2
o s ws -] an »: a

04



Professional manufactu

of pneumatic pipe fittings SHEELTHIER

Bl ONE-TOUCH FITTINGS sk ONE-TOUCH FITTINGS
PEW Z52¥8E=i8 W Reduce 2 Pl SRYBEEE Tube spicer
M”“‘;'](’D‘ 3 L c o D1 D2 ad
Modl (6D-T)
Pews-4 | 193 286 8 1 6 4 a2
Pua 36 4
PEwe-4 | 225 246 9 148 8 4 a2
PEWB-6 | 226 a6 9 148 8 s a2
Pus a s
PEWI0-6 | 285 646 2 184 10 s a2
pug a2 [
pewio-8 | 285 &5 » 184 10 8 a2
pewi2-8 | 295 & 136 2 12 [ a2
puI0 a8 10
PEWI2-10 | 295 5 136 2 12 10 22
U2 64 12
PEWIs-12 | 222 & 156 26 1 2 5
PKG ZER¥EFIHIE Reduce union K PIG '#/{2#B%IEif Reducer tube spicer

Model ($D-T) Model (6D-T)

PKG6-4 | 667 | 366 8 1 92 s 4 22 PIG6-4 @ 186 76 6 4
PKGE-6 | 613 | 416 9 us | 201 ] 6 32 PIGE-6 40 206 186 8 6
-
pGo-8 | 819 | 46 | 1 14 | 28 | B 8 a2 PIG10-8 r3 26 208 10 8
PG12-10 | 106 | 605 | 12 2 | 22 | 12 10 22 PG12-10 sl 265 236 12 10
PP &2 Plug PGJ TREEEL Increase U
Model ($D-T) Model ($D-T)
[_g-
 E—
PGIB-4 a8 [ 4 n
1 pelB-6 a6 s 6 13
PGIIO-6 466 10 s 1
PG110-8 a8 10 8 148
| PGI2-6 w4 12 s 13
PP12 16 2 13 12 o
PaI12-8 28 12 8 148
il s 55 v - PGUI2-10 g2 12 1 124

05 06



Professional manufacturer of pneumatic pipe fittings

HedifiEd: ONE-TOUCH FITTINGS

PC 1887<AEE Male straight

1]
POC #B4(REE Round male straight

PCF PRIRLEE Female straight

4D R A ] H AAA
4 M5 4 212 10 2
a4 RY8 75 202 10 3
4 RL4 96 183 14 3
6 M5 4 223 12 2
6 ) 76 208 12 4
6 RLY 96 226 14 4
& Rag 106 206 17 4
6 R12 15 246 21 4
8 RUA 75 27 7] 6
8 RL4 96 245 14 6
8 Ra8 106 21 7 6
8 RI2 15 265 21 6
10 ) 76 21 7 3
10 RL4 96 304 17 6
10 [ 1056 264 7 8
10 R12 15 268 21 8
12 RS 78 3L8 21 6
12 RL4 96 338 21 6
12 Rag 106 298 21 8
12 RY2 135 328 21 8
16 RLA 96 a7 24 6
1% Ra/8 106 28 24 8
1% R12 136 3 24 10
@D R A 8 P [
4 M5 4 212 103 2
a RY8 76 202 103 3
4 RL4 96 183 14 3
6 3 4 223 123 2
6 RUS 76 208 123 4
& RL4 96 226 u a4
6 Ra 106 206 7 4
6 RI2 15 246 2 4
8 ) 76 27 143 6
8 RL4 96 245 143 6
8 Rag 106 21 7 6
8 R12 135 %65 21 6
10 RY8 76 21 173 6
10 RL4 96 304 173 6
10 Rag 106 264 173 8
10 RI2 15 268 21 8
12 ) 76 aLe 213 3
12 RL4 96 338 213 6
12 Ra/8 105 2938 213 8
12 R12 15 328 213 8
1% RL4 95 a7 243 6
16 Rag 106 28 243 8
POCL6-04. 1% R12 15 % 243 10
B o 4D G H
66 10 4 3 10
8 10 4 GL8 14
n 10 4 Gl 7
66 12 6 M6 12
8 12 6 cus 14
un 12 6 Gl4 17
12 12 6 Gars 21
14 » 6 5] 24
8 14 8 cue 7
n 14 8 Gl4 7
12 14 8 Gans 21
14 14 8 G2 24
8 7 10 GLB 7
un 7 10 Gla 17
12 7 10 Gam 21
14 7] 10 57 24
8 20 12 GLB 21
n 20 12 Gl4 21
12 20 12 Gam 21
7] 20 i) e 2
n 238 16 Gl 2
12 238 16 can 24
14 238 1% G2 24

Puisisl. ONE-TOUCH FITTINGS

PC-G #47<AEE Male straight

a
POC-G ##4EEE Round male straight

PMF RESIRIREE
Bulkhead female straight

SHERLTWHIER

n 4D ] P H
PCa-GOL 4 cL8 66 197 1 10 8
PC4-G02 4 G4 65 prd ] 17 10 3
PC6-GOL 6 GLB 66 203 1 12 4
PC6-GO2 6 G4 46 21 7 12 4
PC6-G03 6 Gam 76 196 20 12 4
PC6-G04 6 G12 96 231 24 12 4
PCE-GOL 8 ST 66 2 1 14 3
PC8-G02 8 G4 &6 225 7 1 s
PC8-G03 8 Gam 76 22 20 14 6
= " PC8-G04 8 G2 96 24 24 14 &
~ [pcwo-cor [ 10 GLe 86 279 ) 17 5
Akl I PCI0-G02 | 10 57 5 269 7 7 s
& [ pcio-Goa 10 Gan 76 264 20 7 8
PCI0-GO4| 10 Gl2 96 248 24 7 B
PC12-GOL | 12 GLe 66 al 156 21 5
Pc12-G02 | 12 G4 66 2 7 21 6
PCI2-G03 | 12 Gan 76 283 21 21 e
PC12-GO4 | 12 Gl2 95 203 24 21 8
PC6-GO2 [ 16 G4 45 245 195 24 6
PCle-Goa | 16 Gam 76 365 21 24 8
PC16-G04 | 16 GL2 95 2 24 24 10

Model (6D-T) 4D G e L o
POC4-GOL 4 Gus 66 197 14 3
POC4-GO2 4 G4 66 78 v a3
POCS-GOL 6 Gua 66 203 14 4
POC6-G02 6 Gl4 &6 21 v 4
POC6-GO3 6 GaB 76 196 20 4
1 POC6-G04 6 G2 96 231 24 4
— POCS-GOL B GUs 66 2 143 5
POCB-GO2 ] G4 &6 226 v 6
POC8-GO3 ) Ga 76 2 20 s
POC8-GO4 0 G2 96 24 24 6
POC10-GOL 10 cua 66 279 143 5
i = POC10-GO2 10 G4 46 289 173 6
b 1 1] POC10-G03 10 Ga/8 75 264 20 8
s | POC10-G04 10 G2 965 248 2 8
[ Poci2-Gor 12 Gus 66 a1 1665 5
POCI2-GO02 12 G4 66 a2 v 6
POC12-G03 12 Ga/8 76 283 203 8
POCI2-GO04 12 G2 96 03 24 8
POC16-G02 16 G4 66 245 195 s
POC16-GO3 16 Gas 76 365 21 8
POC16-G04 16 G2 95 22 243 10
L A 1 HL H2 G M o
217 66 76 1 1 M5 | MI2X1 4
242 8 10 u 1 GLB | MI2X1 4
272 u 13 72 14 Gl4 | MI2X1 4
24 66 63 72 7 M5 | MIaxXl 5
249 B 78 72 7 GLE | MuXL 5
201 u 13 7 7 GU4 | Muax1 6
a1 12 1 21 7 Gam | Muax1 6
aa1 1 15 2 Y] Gl2 | Miax1 B
28 B 6 i) B GlE | ML 8
* u 13 i i Gl4 | ML 8
36 12 14 21 i Gam | Mi&x1 8
@77 1 157 24 i) Gl2_ | MI&XI B
289 8 74 24 24 GLE | M20X1 | 10
als u 103 24 24 G4 | M0XI | 10
244 12 129 24 24 Gam | M2ox1 | 10
76 1 16 24 24 Gl2 | M0X1 | 10
a3 B 7 24 27 GlE | M22x1 | 12
248 u 106 2 27 Gus | M1 | 12
&9 12 16 24 27 Gam | meax1 | 12
403 u 16 24 27 Gl2 | M1 | 12
£ n 6 2 32 Gua | MIXL | 16
E2 12 6 2 32 Gam | max1 | 16
40 1 7 2 32 Gl2 | M7XL | 16

o
L=



Professional manufac

rer of pneumatic pipe fittings

$hadihssk ONE-TOUCH FITTINGS

PM FE%E Bulkhead union

PLF L B/MRL7E Fmale elbow

PL L BMR475iE Male elbow

09

P2 2 M1 7 2

P16 s MaTXL 21 2
L A L aF L ] H
bl 188 66 n 4 10 M&
24 188 8 n 4 14 GLB
27 188 1 n 4 17 G4
a7 ¥ 66 . 6 12 3
244 19 8 13 L] 14 GL8
277 [T 1 1z ) 7 Gl
287 bt 12 12 6 21 Gam
209 bt u 12 6 24 G2
273 226 8 us 8 14 GL8
3 28 Ty 148 [] b 37
= 226 12 148 [ 21 GaR
43 | 228 u 148 [] 24 G2
273 278 8 184 10 17 GL8
343 78 1 184 10 7 Gl
w63 278 12 184 10 21 Game
388 278 u 184 10 24 G2
£ 295 [ 21 12 21 GL8
El 296 1 21 12 21 G
38 296 12 21 12 21 Gam
©5 296 u 21 2 2 G2
El 322 1 2 1 2 G
3 322 fr] 2 % 2 Gan
25 322 u 2 1 2 612
L B op @D H R
176 18 4 4 8 3
26 188 75 4 0 RB
246 188 96 4 1 R4
176 1 a 1 ) B 3
237 9 75 13 & 12 RuB
22 i 96 1 ) 1 7]
77 19 106 3 o by R3/8
n2 » 136 11 & 2a me
%6 226 75 148 ) 14 7]
26 226 96 us 8 14 R4
291 226 1086 lag 8 7 Ras
26 26 | w6 | a8 8 2 7
£3 278 75 184 10 [ RUB
R6 228 (13 184 10 i Rl4
336 278 106 184 10 7 RaA
El 778 136 184 10 2 2
22 295 75 21 2 7 R8
%32 296 95 21 £ 7 Rl
362 295 105 21 12 iy Ras
»2 %5 e 2 12 2 R2
42 a2 96 26 16 24 RLa
@ 23 106 2 % 2 [
46 a22 136 26 1 24 2

PLM L EFSiRrE
Bulkhead union elbow

PBF BEAIR=iE Female branch T

PL-G L BAR57%iE Male elbow

EREL TSR

Hedissd ONE-TOUCH FITTINGS

PLMa aa 188 MI2X1 14
PIMS. 281 » Max1 T

1 PuMa 4324 2256 M1&X1 9
PLMIO &07 78 M20X1 24
M2 663 296 Ma2x1 27
PLMLS 621 222 M27XL

L] H G
) 96 66 u 4 10 M5
ED 24 B n 4 i) G1a_|
7e 27 11 n 4 7 Gla
s 2 66 1 s 2 Ve
e 247 s 13 0 14 618
ED 28 1y i s 7 o |
ED E3 12 12 5 21 =
D) w2 u 12 s 24 612
45 273 8 148 8 L4 GL8
45 03 1 148 [ Y [37)
4 2 12 148 [] 2 cam
a5 a3 u 148 e 2 Gz
57 28 8 184 10 by G18
& % u 14 10 T Gl
67 & 12 184 10 21 G3s
&7 %5 14 184 10 24 612
£ ) 3 a 2 E 618
® Ed i1y 21 2 2 Gl
& 38 12 21 12 21 G3s
® 408 1 2 ) 24 612
444 Ed u % 1 24 [57]
a4 E) 12 2 » 2 )
e4a 5 N % 15 24 612

PLA-BOL 26 188 &5 n 4 10 Gus
4Gz 2 188 66 n a 10 Gl
PL6-GOL 232 9 &6 13 & 12 GLu8
PL6-GO2 247 19 65 13 6 12 Gla
PLoG | 262 ® 75 12 5 12 Gan
| peGos | 297 3 96 5] s 12 G2
PL8-GO1 246 226 B6 8 8 1 Gu8
PL8-GO2 261 226 &6 148 8 u Gl4
PLe-GO3 276 226 76 148 8 4 Gas
PLB-GO4 a1l 26 95 148 8 u Gl2
MI0-GOL | 296 278 &6 184 0 7 c1e
PLID-GO2 306 278 66 184 10 17 Gl4
L PL10-G03 2 278 76 184 10 17 Gams
PLID-GO4 366 278 95 184 10 17 Gr2
PLI2-GOL a3 296 66 21 » 17 Gu8
PI2-G02 | 23 | 296 &6 2 2 7 Gl4
PL2-GOa | 233 296 75 2 2 T Gan
PI2G04 | %68 296 [ 2 2 7 B
PL16-GO2 x 222 66 2 15 24 GLld
PL1S-GOG 40 322 76 % 15 24 G3m
PL16-GO4 436 222 96 2 16 24 G2

10



Professional manufacturer of pneumatic pipe fittings SHEELT

$hadihssk ONE-TOUCH FITTINGS s ONE-TOUCH FITTINGS

SR

PLL L EOMHEIRSTmHE PLL-G L EiHEARPmE
Extended male elbow (20| Extended male elbow
Meodal (4 3 [ @p 0 H P #0 H
PLLA-ME 6 78 4 n 4 [ 3 188 56 u 4 14 ST
PL&-01 a5 188 76 i a 10 RUE 188 o5 Tl 4 % [
PLLA-02 365 188 95 m a 14 Rl o o o s 7y e
o O T s e e g
PLL6-02 202 3 95 o) s 11 RIE b L = 2 Z sen
PLL6-03 a7 9 106 13 s 7 Ram L 95 13 £ L 812
) PLe-04 | 462 ®» 135 i) 2 U2 { aas 58 JAh a & Gig
PLB-0L a1a 226 75 18 4 RVE 26 86 us 8 £ Gl
PLLE-02 432 226 9 us 1 R1E G 26 78 148 0 21 cam
PLLE-03 449 226 10 148 7 rR T 25 95 148 8 2 612
PLLE-04 a8 226 138 148 2 L2 278 56 184 10 e G618
PLIOGL | G0s | 278 78 84 o 7 RVE 278 5 84 1 g G|
ALLIO-02 526 | 10 | 96 184 0 r RLA 278 75 184 10 21 638
515 278 105 184 0 7 23 a = T i r e
o = = = = = i %6 85 21 2 o Gl
L)) 892 95 105 2 2 7 () BE 38 Ak 2 2 i
o e 5K = = = o £ 96 21 2 2 G2
71 322 3 2 16 24 R14 22 66 26 L 24 Gla
72 @2 105 2 % 24 R @22 76 2 1 2 Gem
7] L3 222 135 2 16 2 [ 7] 22 95 2 1 24 GL2
GPL L ZMRSEE Male elbow GPL-G RMR475E Male elbow
Mexdal ($D-T) @p L] H P o 6
GPLA-ME 165 203 4 126 a 8 3 203 3 126 4 1 G18
GPLa-0L 191 208 76 126 4 10 U8 708 7T T 7 = =7
GPLa-02 206 203 95 126 4 14 ) 563 &5 5 . 73 =7
GPLeME | 185 203 2 125 & 8 [
i 203 66 125 s 7 Gl
191 203 76 126 6 10 YIS
T o 35 e a 7Y o ohs-cos | 186 203 75 125 4 2 cam
226 203 106 126 6 7 Ram 2 228 o u 8 u bt
20 226 76 14 8 10 RUS 18 26 66 “ 8 7 =
206 226 96 14 8 1 Rl I 225 76 " 8 2 cam
2 226 105 1 8 7 ) 215 226 9 " 8 ) G2
2 226 15 u 8 2 A2 A Y 222 275 65 18 10 4 G18
233 276 75 B 10 ] RUB b s B Py S s o ey
:: g: ;: i al g :;: 213 278 76 18 10 2 Gam
] 1 10
232 276 9 18 10 2 G2
278 275 135 18 10 21 RI2
248 287 75 206 12 I RUB Lot it .2 28 = ! L)
) o7 o5 206 2 ] Rua 247 287 66 206 12 7 Gls
263 287 105 206 12 7 Ram 228 287 76 208 12 2 Gk
293 287 15 206 2 2 U2 7] 6PLI2.GO4 | 247 87 9 206 12 2 G2
PB-G BAMEL=iE MalebranchT
L B op @D H R Maodel (40-T) E ] 0 H G
s 226 4 1 4 10 M5 PB4-GOL ED %6 66 n 4 12 G
L] £ 75 1 4 ] RLB PE4.GO2 £ 7 66 n 4 f7] G4
_s:':_-%_, i °‘-‘5 i : l‘; ':: PB6-GOL 286 2 66 1 6 u G1B
D T O SO T I T T
e 26 (3 1 s 1 Rl e
— o s . . o . PES-GO4 0 3 96 5] s u G2
= e B = g = i PES-GOL & > 86 148 8 u Gue
r3 296 75 18 3 7y 7 PEs-Go2 a5 208 66 18 8 7 G4
5 a6 95 148 B 1 14 P88-GO3 45 = 76 18 [ 7 Gam
3 33 106 148 B [ RaE PES-GO4 % 36 96 18 8 7 G2
I %6 1385 18 B 2 RI2 PB10-GOL & 246 66 184 10 7 G18
&7 3 75 184 10 [ RB PRID-Go2 & ES &6 184 10 7 614
67 £l 96 184 10 v R4 PA10-GO3 & E 786 184 10 2 GaB
L S8 ;s a1 20 it B PRI0-G04 5 408 96 184 10 ¥ G2
Bt ALY h a3 1 2 gte PaL2-GOL & 61 86 2 2 2 c1s
£ 365 75 2 12 2 aue
= = iz 5 = o i PAID-GO2 & %1 &6 2 2 2 Gl4
e 3 T - - = R PRI2-GO3 E ER 76 21 2 2 Gan
5 426 136 21 12 21 RL2 PRI2-GO4 &% N6 96 20 2 24 GlR
vy ry %5 2 3 20 T PElL-GOZ | 6ad » &6 B 1 24 G4
a4 IS 105 2 ® 24 [ PAIL-GO3 | 644 0 75 % 1 24 Gan
544 a 135 2 i 24 [ 7] PAI6-GO4 | 644 436 96 % 1 24 G2




Professional manufac

Hgisd. ONE- TOUCH FITTINGS

PD DEMRZ=iE MalebranchT

rer of pneumatic pipe fittings

oo} £ 8 A op H R
226 4 1 4 10 3
2% 76 1 ) 10 R
2% [ 1 2 14 R4
24 ) 12 B 2 3
26 75 13 & 12 RUE
285 95 12 [ 14 R1d
0 106 13 B o Ra
a6 138 13 & 2 Rz
296 75 8 8 14 [
a6 (3 ue B n L4
) 106 148 b [ A’
35 16 18 0 2 2
% 76 184 10 I RUB
- £l 95 184 0 T R4
38 106 184 10 7 RaB
- a5 135 184 0 2 RI2
3 %6 75 21 2 21 ave
86 [ 2 2 21 R4
J 395 105 21 12 o1 Ra’m
26 136 2 12 21 2
a2 95 2 i 21 R4
23 05 2 I 2 Ram
a a8 15 26 I 2a R12
PX Y BMREG=3E Male branchY
s ® f A op H R
PX4-M5 | 398 143 4 u 4 10 [3
PX4-0l | 423 143 76 1 2 0 )
Pa-02 | 453 143 [ u ) 14 R4
PXo-M6 | 418 148 2 1B s 2 [
Pxe-01 | 438 148 75 1 & 2 RUE
Px6-02 43 148 95 13 & 14 R14
Px6-03 | 478 1 106 13 s o Ra’e
PX6-04 | 613 14 135 ) s 2 )
PXB-0l | 468 T 75 148 0 1% RUB
Px8-02 488 brl 96 us 8 14 R4
Px8-03 | 603 T 105 148 8 [ )
Px804 | Ea8 T 18 P 0 2 Rz
PXI0-01 | 646 2 76 184 %) o ()
Px10-02 | 686 2 96 184 10 U R4
PXI0-03 | 95 21 106 184 10 [ 23
PXD04 | & 2 135 184 10 21 RIZ
PX12-01 | 60 215 75 21 12 21 RS
Px12-02 & 216 95 21 12 21 R4
Px12.03 | & 215 105 1 1 21 Ra
Px12-04 b8 216 135 21 12 2 Rz
PX16-02 | A7 27 95 26 7 24 R4
PX16-03 | 707 27 106 2 i 24 Ra’
PX16-04 | 737 27 135 2 1 24 RI2
"’r::" we @D °d
Peaol| 633 | .65 | 78 B | w2 | 4 a2 rs
PKB4-02| 58 | 385 | 95 B | B2 | 4 32 R4
pesol| e78 | a5 | 75 | ws | 201 s a2 L8
PrBe-02| 698 a6 96 ua 201 6 a2 Rl
mes0a| 713 | 456 | 105 | us | 201 s a2 R8s
PkBg-0L| &7 475 76 184 28 8 42 RLB
meso2| & | @6 | 96 | 184 | 28 | 8 a2 R
mes03| 90 | 46 | 06 | 184 | 238 | B a2 Ra8
e :am | ws | e0s | 06 | 2 | w2 | a2 Rase
@ PKOLO 1 | w5 | 15 | @ | 22 | 0 | a2 2
13

SahERLTIHIER

Hudifsd ONE-TOUCH FITTINGS

PD-G DEMRQ=iE MalebranchT

@ A .
PD4-GOL | 188 2685 55 n 4 12 c1a
PD4-GO2 | 188 27 85 n 4 2 Gl
PO6-GOL | 193 26 56 B s 14 G18
¢ PD6-GO2 | 103 276 46 B s 7] Gls
PD6-GOA | 193 F 76 B s 7] Gag
PD6-G04 | 198 26 96 B s 7] Gl
Pos-GOL | 226 2 55 148 8 14 c1a
2| (@) [ poe-Go2 | 226 06 a5 8 ] I Gl
A || | poe-goa | 226 = 76 148 8 7 638
e PDB-GO4 | 226 ;6 95 18 e 7 G2
| PDI0-GOL | 286 245 56 184 10 0 37
(® POI0-GOZ | 285 %6 86 184 10 0 Gla
= o, Lt 1 PDI0-GO3 | 285 @ 76 184 10 21 Gam
- PDI0-GO4 | 285 408 96 184 10 B 612
PD12-GO1 | 296 361 56 21 12 21 G18
: PDI2-G02 | 296 361 86 21 2 21 Gl
PDI2-G03 | 296 71 76 21 12 21 Gam
PDI2-GO4 | 296 £ 96 21 2 24 c12
PDls-GO2 | @2 Ed 85 26 1 24 Gl
PDlGo3 | @2 40 78 2 1 24 Gam
7] PDl6-GO4 | @2 435 95 2 s 24 612
PX-G Y BUEQ=il Male branchY
B F ® 0 H &
428 143 85 1 4 12 618
443 13 n 4 2 Gla
438 148 56 B s 14 G618
53 U8 B & ) Gl
458 148 76 ) & ] cae
T 503 us 95 1B & u G12
463 179 56 18 s 1 618
- a8 179 85 148 8 I [
L 23 179 76 148 s i Gas
1 828 29 95 u8 8 i 612
66 2 56 184 10 i c18
% & 21 &6 184 10 i Gla
85 2 78 184 10 21 Ga®
) 2 95 184 10 B 612
b 586 216 56 21 12 21 Gl
4 ‘ & ED 216 46 21 12 2 Gl
06 218 76 21 2 21 cam
&1 218 (3 21 2 24 G2
87 227 85 2 15 24 cla
a7 27 78 2 » 24 Gam
7] 712 27 3 2 1 24 G12
PKB-G #&HiE Male union
201
201
201
2a8
2a8
mes-cos| 8 | 476 | 76 | 184 | 238 | 8 az | 2 | eam
PEI0-GO3| 1006 | 606 | 76 | 2 | 282 | 10 a2 | 2 | cam
@ PKEIO-GO4| 1031 | 606 | 96 | 21 | 282 | 10 a2 | 2 | G

14



ST ISR

of pneumatic pipe fittings

HugidEsk ONE-TOUCH FITTINGS Huifsl. ONE-TOUCH FITTINGS

PHL(3) #sLREXEM 3 PHL(3) -G #LREXEfMA 3
Triple universal elbow o Triple universal elbow
(60-1) = e 0 op I
PHL4-0L(3) 671 213 76 4 13 12 R1B PHL4-GOL(3) Bo1 23 66 4 13 14 Gu8
PHL4-02(3) 896 262 95 4 13 17 Rl4 PHLA-GO2(3) | 676 262 66 4 13 17 G4
A . PHL6-0L(3) 671 213 76 6 13 12 Rl - PHL6-GOL(3) Bo1 23 E6 6 11 14 [SE:]
= PHL6-02(3) 9.6 262 96 6 13 17 R4 M PHL6-GO2(3) | 676 262 66 & 13 17 G4
’;ﬁ W PHL6-03(3) e 291 106 6 148 21 R38 PHL6-GO3(3) | &9.6 291 76 6 148 21 Gam
= 5[ PHL6-04(3) 761 221 136 6 148 21 R12 PHL6-G04(3) 721 a1 96 6 148 24 G2
‘];;t Tiﬂﬂ PHLE-0L(3) 671 263 76 8 148 12 R1B PHL8-GOL(3) Bo1 263 13 8 148 14 GL8
)
,\ PHLB-02(3) 06 284 96 8 148 17 R4 PHLB-GO2(3) | 676 284 &6 8 148 17 G4
- E ‘L - JJ'U N PHL8-03(3) L6 293 106 8 148 21 Ras 1 PHLB-GO3(3) | 9.6 23 76 8 148 21 Gam
‘4 “ TH] N PHL8-04(3) 7%1 323 136 8 148 21 RI2 Il | PHLE-G04(3) | 721 23 96 8 148 24 Gl2
) 1 PHL10-01(3) &8 a3 76 10 184 12 R18 PHLIO-GO1(3) | 468 303 E6 10 184 14 Gl8
o E M PHL10-02(3) 776 26 96 10 21 17 R4 PHL10-G02(3) | 766 R6 66 10 21 17 G4
\b_ PHL10-03(3) 76 231 106 10 184 21 R38 PHL10-GO3(3) | 9.6 231 76 10 184 21 Gam
PHL10-04(3) %1 361 136 10 184 21 RL2 PHL10-G04(3) | 721 61 96 10 184 24 GL2
PHL12-02(3) 776 334 96 2 21 17 R4 PHL12-G02(3) | 766 234 66 12 21 17 Gl4
PHL12-03(3) 772 366 106 12 21 21 R3/8 PHL12-G03(3) | 762 366 76 12 21 21 Gar
PHL12-04(3) 807 366 136 12 21 21 R12 - PHLI2-G04(3) | 777 366 96 12 21 24 GL2
PLJ L B&{2HEL Blance L PBJ(PEWJ,PEGJ) BAY4EL
Balance/ increase B
PBJ4 as 34 n 4 a2
: PBIS 286 366 13 6 a2
Paje 45 426 148 8 a2
;
i L PRI 67 616 184 10 42
- Leo )
\ -
PLI12 296 645 21 12 42 pRI12 & 645 21 12 42
PLILS 22 98 26 16 6 PBILE b44 698 26 16 6
PDJ D &E&&EL Blance D PYJ(PWJ) Y sk
Balance/ increase Y
Model &P D $d
PYJ4 13 613 n 4 a2
PYi6 us8 643 13 6 a2
pyis 179 58 148 8 a2
PYi0 21 7 184 10 42
Pri2 216 78 21 12 42
PYie 227 a6 26 1% 6
Model P éD1 $D2 ¢d
-
Y b Prle-4 us 643 13 4 6 32
PYJ8-6 179 96 lag L 8 32
PrJ10-8 21 72 184 8 10 42
PYJ12-10 216 78 21 10 12 42
PONS 22 898 26 16 6
Prils-12 27 868 26 12 16 6

17 18



Professional manufacturer of pneumatic pipe fittings

iR SPEED CONTROLLERS
J¥ 2 Features

RHSRRAON, LAHRSEE.

RERAINME, FRLCETEQE ERfSHRERN.
EISHINNELK, FILUSTRMEET .

BTSN Specifications

R Air{ No other gases or liquids)

EAES 0~150PSI 0~10Kgflom? (0~1000kPa )
T 7.5P8I 0.5Kgflem’ ( 50kPa)
EERATEE 32~140° F -10~60C
A Polyurethane and nylon

P iRaTEAA Product code system

(000

)
W

X/ (D)

Metric size Ince size
Code 03 04 | 06 08 | 10 [ 12 B | 582 | 316 | 14 | 516 | 3B | 12|
Dia ©3 | o4 | o6 | o8 | o0 | of2 °18 | ©532 | 0316 | o14 | 0516 | 03B | o2 |

03
Size M3x0.5 | M5x0.8 R1/8 | R1/4 | R38 R12
Unified fine thread American standard thread
Code u10U NO1U NO2U NO3U | NO4U
Size 10-32UNF NPT1/8 NPT1/4 | NPT3/8 | NPT1/2
@I,

S SL08-02 $L08-028

I Blue [ Biack |

#5HPE Structural diagram

19

P¥YiN SPEED CONTROLLERS

SL(B) 57 Swivel rotating

SHERELTIEIERS

SL(B)-DC D B3 Swivel rotating D

Madlel (4D-T) B
l&ﬂ/&é\mﬂl o o E A D H R
SL4-M6 | SL4-MGB 318 6 203 36 4 8 ME
SL4-01 | SL4-01B 363 43 213 77 4 12 RS
SL4-02 | SL4-028 447 626 262 114 4 14 RL4
8L6-MB | SL6-MEB a8 36 219 36 6 8 M5
SL6-018 363 43 213 77 6 12 RY8
8L6-028 447 626 262 14 6 14 RL4
SLé-038 487 643 291 123 6 19 R38
SL6-04B 628 677 321 163 6 24 R12
SL8-018 363 43 263 77 8 12 RS
SL8-028 447 626 284 114 8 14 RL4
SL8-038 487 643 293 123 8 19 R3m
SLe-048 628 677 23 163 8 24 RL2
SL10-01 | SL10-01B | 363 43 03 77 10 12 RY8
§L10-02 | SL10-028 447 626 26 114 10 14 RL4
§L10-03 | 5L10-038 487 643 331 123 10 19 R3mB
SL10-04 |SL10-04B| &28 677 361 163 10 24 RL2
SL12-02 | SL12-028 | 447 626 334 114 12 14 RL4
SL12-03 | SL12-038 | 487 643 ) 123 12 9 R38
SL12-04 |SL12-04B| &28 677 W56 163 12 24 R12

SL4-MB-DC | 8L4-MBB-DC 266 203 36 4 8 M6
$L4-01-DC | SL4-018-DC 336 213 77 4 12 RY8
8L4-02-DC | SL4-028-DC 41 262 14 4 14 RL4
SL6-MB-DC | SL6-MBB-DC 266 219 36 6 8 ME
SL6-01-DC | SL6-018-DC 336 213 77 6 12 RL/8
8L6-02-DC | SL6-028-DC 4L 262 14 6 14 RL4
8L6-03-DC | SL6-038-DC 463 291 123 6 19 R38
SL6-04-DC | SL6-04B-DC 603 a1 163 6 24 RL2
SL8-01-DC | SL8-018-DC 336 263 77 8 12 R1/8
8L8-02-DC | SL8-028-DC 4L 284 114 8 u R4
$L8-03-DC | SL8-038-DC 463 293 123 8 19 R38
8L8-04-DC | 5L8-04B-DC 603 323 163 8 24 R12
$L10-01-DC | SL10-018-DC 336 303 77 10 12 R1/8
5L10-02-DC | 8L10-028-DC 41 26 n4 10 u RL4
$L10-08-DC | 8L10-038-DC 463 a1 123 10 19 R38
5L10-04-DC | SL10-04B-DC 603 361 163 10 24 RL2
$L12-02-DC | 8L12-028-DC 41 334 14 12 14 RL4
§L12-03-DC | 8L12-038-DC 463 356 123 12 19 Ram
SL12-04-DC | SL12-04B-DC| 503 366 163 12 24 RL2

SA i Union straight

20



Professional manufacturer of pneumatic pipe fittings SahEELT IS

ﬁ P
VN SPEED CONTROLLERS T HAND VALVES . D

4¥,% Features

SL(B)-G 75ifii@ Swivel rotating

Ea Model (4D-T) L Wﬂn&ﬂw
o e I e A ST OERAE
5L4-G01 | SL4-GOIB 363 43 23 6 4 12 Gus m' R
s.4-602 |si4c028 | 447 | 626 | 262 | aa a 1 Gla
SL6-GO1 | SL&-GOIB 363 43 23 6 & b3 Gue 3 oy Ly e
SL6-G02 | SLe-GO28 447 626 82 84 L] 1 Gla &mm SDELmCC,UOI]>
T I SL6-G03 | SL6-GO%B | 487 643 291 94 6 19 Gas (R Air{ No other gases or liquids)
" < | s6c0s |secoss| ee8 | &7 | @ | 12 6 24 | e
J g $L8-GO1 | SLB-GO1B 363 a3 263 6 8 2 Gue RS 0-150PS| D.ﬂ'(grw (0~1000kPa )
- C 14 | 58602 | s8-Gom | 447 626 284 84 [ " Gl B ~29.5in Hg ~750mm Hg ( 10Torr )
: N 5L8-G03 | 8.8-GOB 487 Ba3 23 94 8 L) GaAa
| s '::: ‘: S8-GOa | SL8-GO4B | E28 &7 223 8 24 c12 ERRETE 32-140° F -10-60C
$L10-G01 |5L10-G018 | 863 ) 203 6 10 12 273 fdimt Polyurethane and nylon
S10-G02 [SL10-G028| 447 | 626 | 226 | aa ") " cl4
SLI0-GO3 | SL10-GO3B | 487 Ba3 a31 Q4 10 9 GaAa
S010-GO4 |SL10-GO4B| E28 &7 381 132 0 24 Gu2
8L12-G02 |8112-G028 | 447 24 334 84 12 14 Gl
5112-603 |s112-GoB| 487 | 643 | 65 | 94 12 ® cam
o ] e L S ELUSE_SE_S L i B PRI Product code system

SL(B)—DC—G D BF5i7iA =
Swivel rotating D Model (4D-T1 ) v A -
-3

%0 "
WHEZOUT | AR UT
S.46010C | 84-cOBOC| 36 | 213 6 4 2 | cm
54-602-0¢ | sLa-Gos0c | a1 %2 | 84 4 1 | ewm @k (D)
S6-GOL-DC | SLe-GoB-0C | 335 | 213 [ 6 z | o —
SL6-G02-0C | sL6-6028-0C | a1 %2 | 84 3 u | ewm Codo o T o o - I -
—r . 86-G03-DC | si6-GomDc | 468 | 291 | 94 6 ¥ | com Da 3 [ ™ T o0 [ o1
o P - | s6-60d.0c [ se-Gosmoc| e0s | a1 | 132 3 2 | o
B [ wscooc [sscomoc| 25 | 26a 6 8 12 | cw GRS
- \ I S.8-G02.0C | st8-Gos-0c | a1 284 | B84 8 1 | ew
= I" 'stacoanc |sscomoc| 452 | 23 | 9a 8 ¥ | com
-~ | bmmf .: $18-G04-DC | 8.8-G04BDC | 608 23 132 8 24 G2 Code 01 [ 02 Toper ppo freed 03 I 04
& SL10-GO1-0C | SLI0-GOIB-DC| 236 | 203 ] 10 2 cus Size R | R4 R3%8 | Ri2
S10-602-0C | 10-GomDC| a1 26 | 84 10 1 | ewm
5110-603-0C [SL10-GoBDC| 463 | @Al | 94 ) 1 | com
210-604-0C [s10-6048-0C| 603 | s | 12 10 2a | ew
§12.602-0C | SL12-608-0C| 4 24 | 84 12 u | cw
812.608-0C [s12.6080C| 463 | 65 | 9a 12 w | cam
o S12.6040C [s2.c0480C| 603 | 265 | 132 2 2 | o

. #5HE Structural diagram

21 22



Professional manufac

F HAND VALVES

HVFF 158 - 158 Nipple

Y

= & iwor =
wer

f pneumatic pipe fittings

A [Thiee-
wary

HVFF10-108

HVFF10-10

216

HVFF12-12

HVFS &8 - 84 Straight A

Model ($0-T)
B Two-wey il [Thess- way
HVFS06-01 | 426 | 681|146 | 85 | 42 | & | 75 |RuB | 12
HVFS06-02 | 426 | 606 | 145 | 86 | 42 | & | 95 | R4 | 14
HVFS06-03 | 426 | 621 | 165 | B6 | 42 | 6 | 106 [Ra® | ©
HVFS08-01 | 426 | 69 | 146 | 86 | 42 | B8 | 75 |RwB | 14
HVFS08-02 426 | 61 | 166 | 86 42 8 95 | R4 14
HVFS08-03 | 426 | 626 | 145 | 86 [ 42 | 8 | 106 Ram | ¥
HVFS10-02 47 | 724 | 216 | 106 | 42 10 95 |R4 | T
WS008 | 4 |734|216 |06 | 42 | 10 | 105 RaB| ¥
HWS10.04 | 47 |79 (216 (106 | 42 | 10 [136 |pu2 | 2
HWS12-028 HVFS12-02 4 | 733 | 215 | 106 | 42 12 95 | R | 21
HVFS12-038 HWS12-03 47 | 743 | 216 | 106 | 42 12 106 (R3B | 21
a HVFSI2-048 | HWSI12-04 | 47 | 7723|215 (106 | 42 | 12 [ 136 [RL2 | 2

HVSF $8 - &% Straight B

Macisl (T-4D)

=il Threa-woy

HVSFOL-068 | HVSFOL06 | 426 | BAl (146 | B6 | 42 [ & | 75 (AU | 2
HVSF02-068 | HVSFO2.06 | 426 | 604 165 | 85 | 42 | & | 95 |ma | 14

HVSF03-068 | HVSF03-06 | 426 | 621 (145 | 86 | 42 | & [ 106 |Ram | D

HVSF01-088 | HVSFOL08 | 426 | 69 (145 [ B6 | 42 | 8 | 76 [RUB | 14

::"',H HVSF02-088 HVSF02-08 [ 426 | 61 (165 | B6 | 42 | 8 | 95 [Rma | 1

._:1 HVSF0a-008 | HVS03-08 | 426 | €26 | 146 | 86 | 42 | 2 |06 [Ram| U

L HVSFO2-108 | HVSFO2-10 | 47 | 724 (215 (106 | 42 | 10 | 95 |RM | D

HVSF03-108 | HVSFO3-10 | &7 | 734 (216 (106 | 42 | 10 | 106 [RaB | T

HVSF04-108 | WVSFO410 | 47 | 769 (216 | 106 | 42 [ 10 |136 |AV2 | 21

HVSF02-128 HVSFO2-12 47 | 723 (216 | 106 | 42 | 12 | 96 (R4 | 24

HVSFO3-128 | HVSFOS-12 | 47 | 743 (215 | 106 | 42 | 12 | 106 |RaB | 2L

[20] HVSF04-128 HVSF04-12 4 | 773|216 | 106 | 42 | 12 | 136 RW2 | 21

LTl

F HAND VALVES

HVSS 48 — $84 Nipple

way

5

&

Model (4T-T)

Z @ fiwe- =

way

A Mhree-

HVSS01-01B HVSS01-01 |426| &5 |146| 85 | 42 | 75 | 76 |RUB|RVE| 14 | W
HVSS02-018 HVSS02-01 | 426 | 6665|166 | 86 | 42 | 96 | 76 |RlM |RV8 | 14 u
HVSS02-028 HVSS02-02 (426 | 68 | 146 | 85 | 42 | 96 | 96 | R4 | R4 | 17 17
HVSS03-028 | HVSS03-02 | 47 | 826|216 (106 | 42 | 106| 96 (R/8|RM | 17 | 17
HVSS03-038 HVS$03-03 47 | 836|216 |106| 42 | 106|106 |R3/8|RA/8| 21 | I7
HVSS04-088 HVS504-03 47 | 876|216 |106| 42 | 136|105 |RV2 |Ra/8| 21 | 21
HVES04-04B | HVSS04-04 47 | 906|216 | 106 | 42 | 136|136 RUV2|RL2| 21 | 21

24



Professional manufacturer of pneumatic pipe fittings

#ik STOP FITTINGS
4% )5 Features
FULRELIBEEE TR LRE S,
SR EF AR,
FILUREN BRI S . >
BUREAREER T RS,
Bi{EREBE] Specifications
{ERTHE Air( No other gases or liquids)
WRED 0~150PS! 0~10Kgflem” ( 0~1000kPa )
R 32-140° F -10-60TC |
e Polyurethane and nylon |
FelibREEAL Product code system
ons
&K (D)
Metric size Ince size
Code 04 | o6 | 08 [ 10 | 12 582 | a6 | 14 | 516 | 38 ”
Dia o | o | @ | o0 | o2 o532 | 0316 | oU4 | 0616 | @38 ol

Méx1.0 R18

Code u10U NO1U |
Size 10-32UNF NPT1/8 I NPT1/4 I NPT3/8 NPT1/2
#ERPE Structural diagram
Vave O-RNGNBR) o o)
Body O-Ring(NBR) Valve Valve Spring(Stainless)
Valve O-Ring(NBR) Nylon Tube

25

#1kM STOP FITTINGS

SPC EiE#LH@ Straight

SPL L Bt Elbow

J
4

SPM BEtR#E;LE® Union straight

SHERLTWHIE

(]

Model (6011 R A 8 H
$CA-ME M6 4 a4 10
‘- spCa-01 RUB 75 26 10
= spes-o1 RUB 75 29 12
‘ sPes-02 R 96 298 u
T T SPC8-01 RUB 76 289 u
‘ sPea-02 AL 95 an u
| |
‘ [ . §C10-08 R¥8 105 5 7
B
| il
SPCI0-04 Rv2 125 25 2
sPC12-08 R¥/8 105 5 2
$PC12-04 RU2 125 442 2
PR N A B w0 40 H R 4d
LM | 226 | w43 4 u 1 M5 a2
w01 | 25 | w43 | 78 1 0 | e | a2
oo | 267 | 387 | 76 1 2 | e | 82
- A
—h T ez | 282 | 387 | 95 13 u R | a2
it
ry: ‘*ﬁ -0l | 296 | 29 | 76 | 18 u | me | a2
==
J5 j; w2 | a6 | 399 | 95 | 18 u Ra | a2
003 | w3 | 447 | 106 | 184 | 10 v | ree | a2
004 | 408 | 447 | 136 | 184 | 10 2 | me | a2
siz0a | 95 | 611 | 108 2 12 2 | pee | a2
su20s| 426 | 611 | 16 | 2 2 2 | me2 | a2

M4 M12x1 04 434 14
SPM6 M14X1 23 472 17
sPMg MLEX1 ek 608 19
SPMIO M20X1 8 681 24
SPM12 M22X1 476 687 27

26



Professional manufacturer of pneumatic pipe fittings

#& 1k M STOP FITTINGS

SPC-G EiE#LHA Straight

SPL-G LE#® Elbow

N

SPU PHiE#RLERA Union straight

27

¥ CHECK VALVES
4% Features
, IENRESTERRED.

BEERSTEREE,
EIARE 0.1Kgficm? FEAESED.
REATERSTIEES 1.42PS|, FLIERERST

SAHEELTWHIER

IEREEA.

FORIEHRW Specifications

SR Air( No other gases or liquids)

fERED 0~150PSI 0~10Kgflem’ ( 0~1000kPa )
E -29.5n Hg =750mm Hg ( 10Torr )
fEFERNEE 32~1400 F -10~60C
R Polyurethane and nylon

Macdsl ($D-T) (] L ]
SPC4-GO1 GLe 56 266
- SPC6-GOL 37 86 269
v
SPC6-G02 Gl 85 28
SPCE-GOL cla 86 289
o
" $ea-co2 Gl 86 an
——, SPCI0-GO3 Gae 7% 365
e '
SPCI0-GO4 6l2 95 365
$PC12-G03 G3m 75 95
SPC12-G04 612 o5 42
Modal ($D-T) L A B 3 40 H (-} 4d
Pa-GoL | 266 | 243 3 1 4 12 e | a2
secol | 267 | m7 | 65 12 s u e | 82
T A 272 aa7 66 13 6 n Gl a2
[] ® [ w9 | 85 | 18 8 u | o | a2
206 | @9 65 148 s 7 e | a2
3 | w7 | 78 184 10 2 | cam | a2
SA0-Gos | 98 | aa7 96 184 0 » ez | a2
|en| ¥ 611 76 2 12 2 | cam | 42
PLU2.G04 | W6 | 6L 95 2 2 24 | e | a2

5PU4 n 491
5PUs 11 $9
spus 148 B&9
SPULD 184 64l
spuL2 2 706

P& Product code system

2Eax (D)
Meric size Ince size
Code o4 | o6 | o8 | 10 | 12 532 | 316 | 14 5§16 | 38 | 1»
Da @ | e [ e [ o0 | o2 o532 | o316 | o4 | o&16 | o8 | o2
[eX i
Metric size Tﬂw
Code M5 M6 01 | 02 03 | 04
Size M5x0.8 | M6x1.0 R18 I R1/4 | R38 | RI2
Unified fine thread American standard thread
Code U10U NO1U | NO2U NO3U NO4U
Size 10-32UNF NPT1/8 | NPT14 | NPT | NPT12
£:HiPE Structural diagram
Body

Valve
Vaive O-Ring(NBR)  (Ajuminum) (B\;ass) Hold(Brass)
/ F |

' m‘gmm Collar(ZnDC)
(ZnDC) Lock Claws(Stainless)

Nylon Tube

28



Professional manufacturer of pneumatic pipe fittings

My CHECK VALVES

CVPC HEiE®mf Straight

CVPL L 25 Elbow

RN

Wi

CVPM FEiREEE Union straight

29

Maxdel ($0-T) 40 R A 3
CVPC4-ME 4 M5 4 353
CVPC4-01 4 RYB 75 24
CVPC6-01 L] RUB 76 a7
CVRC6-02 & R4 95 a27
cvpcs-o1 8 R18 75 36
CvPCe-02 8 RLe 96 36
CVPC10-03 10 Ram 1086 a2
CVPC10-04 10 RU2 136 az 21
OVPC12-08 2 Rae 106 438
CVPC12-04 12 RI2 136 438 21

Mode! ($D-T)

ME

CVPLa-01 25 75 1 0 Ru8
2587 75 13 » Ru8 a2
282 96 13 u RLa 82
26 75 1a8 1a Ru8 a2
316 95 1a8 1 R4 32
w3 106 184 br) R3B 42
CVPLID-04 | 408 135 184 2 R12 42
CWPL12-03 95 106 2 21 Rag 42
CVRLI2-04 | 426 136 2 2 R12 42

613

667

FiRi§ CHECK VALVES

CVPC-G Hill%@# Straight

&
&

CVPL-G LEPEHE Elbow

»

&

CVPU FEES[EA Union straight

”,

SAHEELTWHIER
Modsl ($D-T) 6 A B
CVPC4-GOL Gus 66 294
CVPCH-GOL (7] -1 27
CVPCH-GO2 Gl4 66 27
CVPCB-GOL GuU8 656 36
CVPCB-G02 Gla 66 k3
CVPCID-GO3 38 75 412
CVPC10-G04 Gr2 96 a2
CVPC12-603 G3m8 76 436
CVPCI2-G04 G2 96 436
:“:L?:I L A B H G éd
CVPLA-GOL | 266 66 66 12 Gus a2
CvPL6-GOL | 267 6 (13 14 Gus a2
CVPL6-GO2 22 N6 66 14 Gla a2
29 423 66 14 Gue 32
W6 423 1 7 Gl4 32
33 &6 76 2 Gane 42
CVPLID-GO4| 398 826 96 9 G2 42
CvPLI2-GO3| 7 854 76 21 Gan
CVPLI2-GO4| 306 664 95 24 GL2 42

cvPu4 614
CVPUS B68
cvpua 683
CVPULD ne
VP2 749

30



Professional manufacturer of pneumatic pipe fittings SHEEL TSR

E{5Esk COMPACT ONE-TOUCH FITTINGS 258 COMPACT ONE-TOUCH FITTINGS

i Features
i PC-C #4EHE Male straight

RNEFER (COMPACT), ELEEEI BTN 40%, SHERTN20%, BNEML
E ONEZTOUCH prﬁ':;?n?imm [ Modsl ($DT) 4D R A e H AR
FREGMELE, L .
v
Pca-mac 3 M3 3 162 6
BTSN Specifications PC3-MEC 3 M5 as 157 8 2
m Al I'(ND other |h l“s) PCa-MéC 3 Ms 4 162 8 2
gases or %
RED 0~150PS| 0~10Kgflom” (0~1000kPa ) | poac . w 3 16 8
fE -29.5inHg =750mmHg (10Torr) 3 | pca-msC 4 Y3 a6 v 8 2
EFREEEE 32~140° F -10~60C e ‘ o A . R -
i < g pca-01C 4 RuB 76 16 10 3
PC6-MEC & M5 a6 181 10 2
PC6-M&C & M 4 186 10 26
PibREsIEAa Product code system
- PC6-01C & RuB 76 192 10 4
I I I I POC-C BSEES
Round Male straight
m Model ($D-T) 40 R A B L ern ]
@uE@x/) (D)
poca-mac 3 M3 3 152 6
Metric size Ince size
Code 03 | 04 | 06 18 | 5/32 [ 1/4 — POC3-MEC a v3 as 57 8 2
Dia o4 | o4 | o6 18 | 05/32 | o1/4 r - 1
T J POC3-M6C 8 Ms 4 162 8 2
(mm | A
l/ ‘1‘ POC4-MAC 4 M3 3 165 8
| POCA-MEC 4 ™5 as v 8 2
_| I “ ’ POCA-MSC 4 Mo 4 bl 8 26
Size M3x0.5 | M5x0.8 | M6x1.0 | R18 | ’
4 ﬁ ﬁT\‘ POCA-01C 4 RUe 78 1 1 3
Unified fine thread American standard taper pipe thread ! x,L L
Code uU10U NOOU NO1U POC6-MSC 6 M5 as 181 10 2
Size 10-32UNF NPT1/16 | NPT1/8
POC6-M6C 6 Ms 4 186 10 26
- POC6-01C & RuB 76 192 10 4
5 PL-C L BURL7%E Male elbow
#5HPE Structural diagram
Model (6D-T) 40 R A € L H
PL3-M3C 3 M3 3 124 129 6
PL3-MEC 3 M5 36 124 148 8
= € - PL3-M&C 3 Ms 4 124 163 8
/ g — T
| || pLasmac 4 M3 3 157 19 8
ST [THE
T | B h s PL4-MBC 4 M5 36 187 144 8
PL4-M6C 4 M 4 1B7 149 8
PL4-01C 4 RuB 76 187 169 10
PL6-MBC & M5 a6 164 16 8
PL6-MEC 6 Ms 4 164 166 8
- PL6-01C & RUB 76 164 176 10

31



Professional manufacturer of pneumatic pipe fittings

ik#Rissk COMPACT ONE- TOUCH FITTINGS

PLL-C L BEHCREPHE
Extended male elbow

PM-C iP5 Bulkhead union

PLM-C L 2#tR5iE Bulkhead union L

33

Maddel (6D-T) #0 R A 3 L
PLL3-MAC 3 M 3 124 209
PLL3-MEC 3 L a6 124 228
PLL3-MSC 3 M 4 124 233
PLLa-MAC 4 M 3 187 234
PLLA-MEC 4 L a6 187 239
PLL4-M&C 4 M& 4 187 244
PLL4-01C 4 RUB 76 187 254
PLLE-MEC & ME as B4 28
PLLE-MSC & Ms 4 154 286
PLLE-0IC 3 RU8 75 154 208

267

36

PLM-3C MBX076 | 124 n2 77 7 a1 23
PLM-4C MLOX1 187 us 8 13 22 a
PLM-8C M2X1 164 132 108 109 268 a6

i3k COMPACT ONE-TOUCH FITTINGS

PU-C #2i75i Union U

PV-C L EMBHPEE UnionlL

PE-C L B¥5I=i Union T

PY-C Y B¥3H5E UnionY

SaHEELTUHIER | |

Pua-c a o8 62

|

B

=
TIC

==
Pua-C 4 262 81
HH
,.l:_ PUs-C & 263 107
Modsl o01 B 13 3 #d F
i Pva-C a 1486 62 n4 a2 47
.
Pu-C 4 183 81 142 a2 6
PYe-C 6 218 107 164 92 7
Model 0 o E #d F
PE3-C a 62 un4 a2 47
PEa-C 4 81 142 a2 L]
PEs-C & 107 164 a2 7




3y SLIENCERS

PSL #BElH=28 Siencers

PSU Bkl Silencers

BSL 24FiEEsE Metal

35

Professional manufactu

Modlel ($D-T)

PsL-01 a0 6 166 Ru8
PsL-02 87 8 193 RL4
PSL-03 61 10 2 Ra8
PSL-04 61 10 24 R12

Moddl (¢D-T)

PSU-MB 6 86 M5 la
Psu-0L 66 16 (0] 18 8
Psu-02 10 21 Gl 2 12
Psu-03 125 26 el 26 1
PsU-04 14 0 612 a8 18
PsU-06 1% 45 G34 a3

Model (6D-T)

BSL-ME 10 3 26 45 ME
e
*‘l—‘—\" BSL-01 13 6 4 8 RLE
f \
/ \
[ \ BsL-02 v 8 4 n R4
|
J \w
1wt BsL-0a 2 10 3 n a8
o | “
RN I BSL-04 24 10 65 18 RL2
BSL-06 ) n 76 2 RaM
BsL-10 % 156 13 27 RL

BSLM 2f@H/~88 Metal

[}
BESL 2fiHma Metal

MBPR. MBPG 1#:k Plug

S gL T HIER

2% SLIENCERS

Model (6D-T) L H B oD G

BSLM-01 n 12 6 10 GuB
BSLM-02 146 16 856 13 Gla
BSLM-03 v 9 10 16 Ga8
BSLM-04 19 22 n 7 612
BSLM-06 96 27 pit) 22 Ga4
BSLM-10 206 34 126 a0 Gl

Model (6D-T)

L H HL F R
BESL-01 38 10 12 66 RLB
BESL-02 38 12 14 76 R4
BESL-03 46 1B 17 76 Ram
BESL-04 67 22 24 14 RL2
BESL-06 & 23 27 1n R34
BESL-10 :~3 34 34 126 RL

‘ ‘ .\ Model (4D-T) L 5 R
£ ]
MEPR-0L 7 4 RuE
MEPR-02 9 66 R4
MEPR-03 96 66 Ra2
MEPR-04 123 o R12
36



Professional manufacturer of pneumatic pipe fittings SehEREL TSR

2FEN304-3161H 2AHENMI04-316HUE
SVR-LEAREEL(360° 1E5¢)

SVR-Y=iiNEpoaEsL(360° 1FsE)

T Y N
cEE TN A A

766715
M6x075 10 10 19 15 4 9 766716 870l
SVR-Lo4 ae" G A EAEE N T SVR-Y® 4 M6x075 10 10 19 15 8 766752
G 10 14 19 16 9 g 766718 il 10 IO RIS 3 55 8 R 6 ZB5753
M6x075 12 12 20 11 4 11 766719 A0 (1R W2 ) BT 2 =08 1D 7 5604
T e b R R PE B = SVR-YO8 G 2 10 20 17 8 766755
B Gl 12 10 20 15 8 11 766721 G 12 14 20 18 8 766758
Gl 12 14 20 18 9 11 766722 iy L N S il
ST i B i e ) s = SVR-Y®8 G 14 14 25 20 9 766758
Ei\ﬁ b G 4 14 25 15 8 13 766724 “ S (380 B8 =5 =T EREES
A E ke Gl 1“4 14 2 16 9 13 766725 5‘5@ S CEN I - 22 4676
5 i P 1) e S it S ;E_"_m SVR-Y®10 Gye’ 6 1 209 22 o 766761
Gl 18 14 20 15 8 17 766727 o 5 E Glyer 167 167 a8 29 1| 10 {66762
cmilee | S W m®le T 766728 g e m :: ;: 2 : :: ;:;z
Gfe" 6 19 29 17 10 17 766729
e <5 T el i Dl i G 8 27 2 0 14 766765
a1 18 19 20 22 10 18 766731
SVR-LO 12 ae 18 27 20 26 14 18 766732
Gl 18 22 20 24 12 18 766733 SVR-QEIRSREtATIER (360° )
G¥e 20 22 29 24 12 20 766734
Fi s T ~ T T
= SVR-Q@4 4 766766
A — {EHEE  rges M:f,;]s 1: Z 1: ———
sl o T T Fr R
iy SVR-Q08 M10x 1 4 | 25 14 8 766770
SVR-E®4  MEx075 10 10 19 15 B 766737
a1 0 1 18 15 8 766738
MIOx1 12 12 20 16 7 766739
SVR-E®6 aie" 12 10 20 17 8 766740 SVR-IEREES
a1 12 14 20 18 766741
G5 (L 0 I A P _-
SVR-E®8 G1/4" 4 14 26 2D 766743 SVR-104 766771
Gy’ 1|7 i e i 766744 SVR-106 35 12 766772
a1 6 17 20 2 9 766745 s = - —
SVR-E® 10 Gafe" ® 19 29 22 9 766746 T - - e
ale 6 19 20 28 10 766747
a1 8 19 30 3 12 766748 SVRe12 i e Bl
SVR-E® 12 Q38" 18 22 | 30 80 | 12 766749 ' SVR-1014 50 20 766776
aie 18 27 30 30 14 766750

39 40



Professional manufacturer of pneumatic pipe fittings SehEREL TSR

SVRAFEMRIERSI ss04-31641%

SKTABRFERT(FEBRATENM) ssaos-stenm

SVR-G Z2HE =009 SVR-Y YRI=iE =011

®D 6-4

8-6
10-6
10-8

St 12-8

KT-U FEE#E+E £S013  KT-L-FEELEE £2014
T
®D 4-4 M10*1-06 2G1/2-06.35
6-6 L MI0*1-08  ZG1/8-96
8-8 an M1471.5-8010 ZG1/4-068
10-10 i MI18"1.5-012  ZG1/4-010

1
12-12 - ¢ M181.5-014  ZG3/B-06
14-14 M M20"1.5-014 ZG3/B-08

16-16 k M22"15-016  ZG3/B-010

e WG / M22"15-018  ZG3/B-012

M27"15-022 ZG1/2-010

ZG1B-0635 ZGif2-012

ZG1/4-06.35 ZG1/2-®14
ZG3B8-06.35 ZG1/2-D16

KT-E F&=E {8015 KT-M FEEETR 2016

KT-V F&EEL$E £ 017 KT-B FE=BE&R £5018

12-10
14-8
14-10
14-12
SVR-TATERENA RE012  SVR-E TERE=H s 008
4
6
8
10
12
14
16
SKTAEENEERT ssaod-s160®
KT R Eie #2003
M10*1-06 ZG1/4-o1/2 ZG1/8-08 ZG3/8-010
M10*"1-08 ZG3/8-1/4 ZG1/8-®10 ZG3/8-v12
M10*1-@10 ZG3/8-03/8 ZG1/8-912 ZG1/2-06
M14*1.5-d 10 ZG3/8-1/2 ZG1/4-06 ZG1/2-08
M14*1.5-912 ZGi/2-o1/4 ZG1/4-08 ZG1/2-®10
ZG1/8-01/8 ZG1/2-03/8 ZG1/4-®10 ZG1/2-®12
ZG1/8-d1/4 ZG12-v1/2 ZG1/4-012 ZG1/2-014
ZG1/4-o1/8 ZG1/8-03 ZG1/4-014 ZG1/2-016
ZG1/4-d1/4 ZG1/8-04 ZG3/8-D6
ZG1/4-03/8 ZG1/8-06 ZG3/8-08

ZG1/8-06
ZG1/8-08
ZG1/4-®10
ZG3B-012
ZG1/2-014
Z2G1/2-®16

43

44



Professional manufacturer of pneumatic pipe fittings SHERELT ISR

SKTAENRERT(FEFRETEM) ssas-s16nm SKFFERRIIRFI(FEFRATEM) sss04-3166%

|xcD |

KT-EFERE=E 5020 FERA 5030 (=350 5031

8-6-8 ®3 01/8 /8
10-8-10 o6 ©1/4 1/4
12-10-12 o8 38
14-12-14 10 ©3/8 1/2
012 01/2 3/4
Fm % 14
= & . 016
SKNAFEMRITRS ssaos-3164tk SERERE RE032  SHEALHE =033
KN H B RE025  KN-LRESE k=026
[oD]| Cc [oD| C | (oD c [oD] C | -
4 RY8 10 RI2 4 RIS 10 RIR2
4 RU4 12 RIB 4 R4 12 RIS iz
6 RI8 12 RiA 6 RIB 12 R4 34
6 R4 12 R38 6 Ri/4 12 R3B
6 R38 12 RIR 6 R38 12 RIR
6 Ri2 14 RIB 6 RI2 14 RIB
8 R8 14 R4 8 RIS 14 R4
8 R4 14 R3B 8 R4 14 R3B
8 R38 14 RIR 8 R38 14 RIR
8 Ri2 16 RIB 8 Ri2 16 RIB
10 R18 16 Ri4 10 RI8 16 R4
10 R14 16 R3B 10 Ri/4 16 R3B
10 R3/8 16 R1/2 10 R3/8 16 R1/2 FEREER #2036 HEm #2037
[oD| c [oD]| C | [ o0 | wom |
KN-U thiTEsL =S 027 KN-E tii=i 5028 4 Ms 10 R38 G1/8 1/8-1/4
4 RA/80 o NR1/2 G1/4 1/4-3/8
T o ] P S
6 M5 12 Ria
©D ; ; 6l BR8N N2l RaE ?142
3 @D - 6 R4 12 Ri2
6 R38 14 RIB
10 10 6 R12 14 Ri4
12 12 8 RIS 14 R3B
14 14 8 R4 14 RIR
16 16 8 R3¥8 16 RIB
8 RI2 16 R4

b
o o

45 46



Professional manufacturer of pneumatic pipe fittings SaEELRIEIER

The SCR Nickle—copper Fitting

The SCR Nickle-copper Fitting could connect with PU. PE. PA

tube , that use for match with cylinder , control valve and
other pneumatic component .

The SCR Nickle—copper Fitting

iT#=20rder no.

M6x0.75 9 20 4 66667
SCR-04 M8x 1 12 20 5 66668
NG ) M10x 1 12 20 7 66669
\ Wi G1/e" 10 23 8 66670
M6x0.75 12 21 4 66671
et M10x1 12 23 7 66672
L Gl 12 23 7 66673
A
o G1/4" 14 25 9 66674
¥ _ lI=al

———ﬁ SR M10x1 14 27 7 66675
. X G1/8" 14 27 8 66676

SCR-08
Gl 14 27 9 66677
Gaje" 17 29 12 66678
G1/8" 17 30 9 66679
G4 17 30 9 66680

SCR-010
Gaje" 17 30 10 66681
G1/2" 22 30 12 66682
G4 19 30 12 66683
SCR-012 Gafe" 22 30 12 66684
G2 27 32 14 66685
Gafe" 22 30 12 66686

SCR-014
G2 27 32 14 66687

48




Professional manufacturer of pneumatic pipe fittings SEhERELE WIS

A-4athiiisk METAL FITTINGS Nickle—copper METAL FITTINGS

Features
4§ Features Nickle—copper MPC $SEHE Male straight

BAFERLE, AEEEHMERTRSN The main material is nickled-brass quick ER
EFERRREEN, TRADLE connection and high quality . Madel (4D-T) 0 A L
as

ELEWSER R, ENUR, ER5E . e 7
MPCa-0L 2
MPC4-02 4
2 iy e MCo B B
BERTEEBEN] Specifications & e >
WPCe-02 73
mm x ) MPC6-03 &
#RAED 0~150PSI 0~10Kgticm? ( 0~1000kPa ) MPC&-04 &
" MPCB-01 8
i ~295nHg ~750mmHg (10Tor) ] (TTT7Y
EFERETEE 32-140° F -10~60C e [ . MPCE-03 8
< MPCB-04 8 26
(R Polyurethane and nylon | L WPC10-01 10 al
T MPCI0-02 0 )
MPCI0-03 0 ras 06 27 [
PiEREIEAA Product code system MPC10-04 0 A2 125 s 2
MPC12-02 12 Rla 96 % 19
i | e 08 a7 9
12 Ru2 16 22 21

Nickle—copper MPOC #4(Ei& Male straight

MPC12-08
II_I " h
TR

2w ()
Metric size Ince size NI’OCMH‘B . = = = :
76 3
Code 04 | 06 | o8 0 [ 122 [ 18 52 [ W6 [ 14 516 | 38 | 1”2 MPOC4-02 : :: [ :5 3
Dia 4 | 6 | 8 | 10 | 12 | #® | &% | ¥ | 14 | 56 | 38 | 1 MPOCOME | & [3 E 247 2
*_. MPOC6-01 & RuUB 76 247 4
BgeumE MPOC6-02 s R4 [ 25 4
| MPOC6-03 [ R3/8 106 23 4
Metric size Taper pips thread MPOCS-04 B a2 135 = P
Code M5 [ M6 01 | 02 [ 03 T 04 MR 0 3 Ruk 8 7 5
Size ME0.8 [ MBx1.0 R1B [ R4 I RaB | RIZ . Mo B e = Ll 2
T MPOCB-03 a RSB 106 27 &
o [ meocass B 2 135 2 s
Unified fine thread American standard thread MPOCL0-0L 10 RUB 75 a1 3
Code u10u NO1U [ N02U NO3U NO4U — T MPOCI0-02 0 [} 3 2 s
Size 10-32UNF NPT18 | NPT14 | NPT38 | NPT1R2 MPOC10-03 10 Ra/B 106 27 8
MPOC10-04 10 RY2 136 26 8
MPOC12-02 2 R4 96 35 &
#5HP Structural diagram MPoC12-03 2 | ms 08 ar 8
. MPOC12-04 12 RL2 135 22 8
Nickle-copper MpPcr psirii® Female straight
Modal (40-T) L 8 L3 S0 G H
MPCF4-ME 20 66 8 4 M5 8
MPCF4-GOL 23 86 a5 a GuB 14
MPCF4-GO2 266 u 86 4 Gla o
MPCF6-M5 % 66 12 6 MG 12
MPCF&-GO1 28 a6 12 L] Gue pr
MPCF6-GO2 05 u 12 6 Gl o
MPCF6-G03 aas 12 12 & Gas 21
MPCF&-GO4. 06 14 12 & G2 24
MPCFB-GO1 2 a5 u a GL8 14
MPCFE-GO2 a6 n u a Gl4 pr)
MPCFE-GO3 R6 12 14 a Gaa 21
MPCFE-GO4 245 14 u a G2 24
1 MPCF10-GOL a1 86 % 10 Gu8 v
" [wecoee | ms u » 10 Gl I
MPCF10-G03 346 12 15 10 Gas 21
MPCF10-G0d 366 1a » 10 G2 24
MPCF12-G02 %6 u 18 12 Gla 19
MPCF12-G0a 3% 12 1’ 12 Gas 21
- = MPCF12-G0a a8 1a 18 12 G2 24
49 50



Professional manufacturer of pneumatic pipe fittings SahEELT ISR

The SCR Nickle—copper Fitting The SCR Nickle—copper Fitting
SCR-ABEHESL SCR-LEIf@EIEL(360° 1546)
Nickle-copper msarmvece| 4| ¢ | o | e | ¢ [ i#e0vero Nickle-copper w3srm)oso] 1672) | st |2 [Li] 12 18] 0 | siwsoere. |
M5 15 9 4 25 66688 M5 10 10 19 11 4 9 86715
SCR-A®4
M6x075 15 9 4 25 SR Ll M6x075 10 10 19 15 4 9 66716
M6x075 17 12 4 25 66690 G/ Wl e e iE s 66717
SCR-A®6 M10x 1 17 12 5 3 66691 G4 10 14 19 16 9 9 66718
Gl 7 12 5 3 66602 MBx075 12 12 20 11 4 11 66719
SCR-A®8 M10x1 16 14 6 5 66693 SOR-L08 M10x 1 122|120 200 S15| DB N 66720
= Gl 19 14 6 5 66694 G1/8" 12 10 20 165 8 1 66721
- SCR-A®10 Gija 20 16 8 5 66695 G1/a 2 14 20 1B 9 M1 66722
< T Gafe 20 16 8 6 66696 MiOx1 14 12 25 15 & 13 66723
: Gijar 25 18 85 8 66607 u Gi/e" 14 14 25 15 8 18 66724
SCR-AG 12 ] - SCR-L08
Gaje" 250 s o 8 66698 al [ 54 G4 14 14 25 16 9 18 86725
" . Ga/s" 14 12 25 17 10 13 66726
Gifs" 6 14 20 15 8 17 66727
SCR-BASSHEL G1/4" 16:1 S R ea) Eagd| Nt BaY 66728
SCR-L®10
Gajs 6 19 20 17 10 17 66729
REER—— madrmivoce| T52) | s | u | 2 | awSowen e T L et e i —
S, M6x0.75 10 28 14 66699 Gl 18 19 20 2 10 18 66731
Gl 12 28 14 66700 SCR-L®12 Ga/E” 18 27 20 26 14 18 86732
T 5 = o T Gl 18 22 29 24 12 18 66733
SCR-B®B Gafs 20 22 20 24 12 20 86734
Gl 14 28 14 66702 SCR-L®14
Gij2 20 27 30 24 14 20 66735
M14x1.5 17 33 15 66703
SErE Gl 17 33 15 66704
s SCR-ESH+HHREIESL(360° 1216)
— M14x1.5 17 33 15 66705
SCR-B®10
— 1 w w o ow w RORN . - o rre || 1 x| e
A I Gifer 27 35 17 66707 Ms ol N IR 66736
TREERE | e % = e e e— SCR-E®4 M6x075 10 10 19 15 8 66737
G1f8" o e e 66738
miox1 |12 |42 |20 e 7 66739
SCR-SHEEEEL SCR-E®6 G1/8" T2l er izl (7 s 66740
G4 2l e 1) e e 66741
Nickle-copper wSmmMocel| TER) | s | b | K [ TS0merno | G 4w 2 1 8 eome
SCR-S04 M10x1 12 39 9 66709 SCR-E®8 G1/4 14 14 25 20 9 66743
L1
SCR-S®8 Mi4x1 14 3 10 66710 ﬁ Ga/g” il AT 5250 (R IS0 66744
ul U
SCR-S08  MiBx1 19 a7 13 66711 A (o BEE A MR SR i
L SCR-E®10 Ga/s’ 6 19 29 22 66746
SCR-S®10 M1Bx1 2 40 13 66712 = i I It It i i
SCR-S®12 M20x 1 27 45 13 66713 a4 18 19 30 30 12 66748
SCR-SO14 M22x 1 27 47 13 66714 SCR-E®12 Ga/B" = s e 66749
Gl @27 =0 % 4 66750

51 52



Professional manufactu

of pneumatic pipe fittings

The SCR Nickle-copper Fitting

SCR-Y=iEihapiosL(360° HEse)

SHEELTE

SaHEELE VISR

The SCR Nickle—copper Fitting

Nickle—copper

L

=

3]

-

SCR-Y®4

SCR-Y®6

SCR-Y®8

SCR-Y® 10

SCR-Y®12

M6 x0.75
Gi1/8”
M10x 1
G1/8"
G1/4"
G1/8"
G1/4”
Galal
G1/4"
Gam'
G1/2r
G1/4"
Ga,al
G1/2r

10
10
12

10
10
12
10
14
14
14
17
17
19
19
19
22
27

888V B8Bo oo

15
15
15

—
=]

888BRRBRBIB

HEd(mm)Model | T(FZ) 1T#S0rder no.
M5 10 10 11

4 66751
8 66752
8 66753
7 66754
8 66755
9 66756
8 66757
9 66758
10 66759
9 66760
9 66761
10 66762
12 66763
12 66764
14 66765

SCR-JEf#L
nickte-corve: R R N e U

SCR-J®4
SCR-J®6 12 20 66778
SCR-J®8 14 25 66779
SCR-J®10 16 29 66780
SCR-J®12 18 34 66781
SCR-Jo14 20 35 66782

SCR-T=iE##sk

I

SCR-T04
SCR-T®6
SCR-T®8
SCR-T® 10
SCR-T® 12
SCR-T® 14

12
14
16
18

20
25
29
34
36

66784
66785
66786
66787
66788

SCR-QEfsi=lrTiERE (360° M)

SCR-XPUiE#Esk

Nickle—-copper

= e Lo Lo Lo Lo Lonions

L
r b |
T
S|

SCR-Q@4
SCR-Q@4
SCR-Q@6
SCR-Q@6
SCR-Q®8

M6x0.75
G1/8"

M6 x0.75
M10x 1

10
12
12
14

19

8

10
12
12
14

® H~ © bH b

66767
66768
66769
66770

SCR-X®4
SCR-X®6
SCR-X®8
SCR-X®10
SCR-X®12
SCR-X® 14

12
14
16
18
20

20
25
29
34
35

Nickle-copper | I MR RO

86790
66791
66792
66793
66794

SCR-DIUEIREEEL(360° 1EsE)

SCR-IEiE#X

Nickle—copper

\\/ﬂ

SCR-104

SCR-106

SCR-108
SCR-1010
SCR-1012
SCR-1014

12
14
16
18
20

66771
66772
66773
66774
66775
66776

53

L1

SCR-D®4

SCR-D®6

SCR-D®8

SCR-D®10

SCR-D®12

M10x1

M10x1
G1/8”
G1/4”
M12x1.25
G1/4"

M14x 1.5
G1/4”

M16x1.5
G1/2"
M22x 1.5

888BIBYREBY

© W m®oo N

=
© 5

S5 SER Gy i ok
. Nickle—copper

T IﬁEOrder no.
796

66

66797
66798
66799
66800
66801

54



Professional manufacturer of pneumatic pipe fittings SEHEELTIHIERS x ‘

KLAWRSIHRERBAEL L @BiRR

BARRAURANREEAR. TRANZBAZEELEATANRREHNE, SERARTIABNTREDNTEERE, ME
HRMEEEL, BERTIIFITHEER,

1. REBEESREE FIMERERE, BUMT

2. RETEERIMTATRR.

KLAWIBA S [E iR
Nickled-brass

66810

KLAW-04
M6 x0.75 25 25 12 66811
—— G1/8 30 32 145 66812
G1/4" 30 34 16.5 66813

7
e G1/8 30 33 145 66814
G1/4" 30 35 16.5 66815
G1/4" 36 355 16.5 66816
KLAW-01

i Ga/8” 36 40 205 66817
G3/8" 36 40 205 66818
kel G2’ 36 45 245 66819

KLAWN#BRT=CE a8k 2 0 size 4, ©6, 08, 10, ©12
Nickled-brass {E RIStk Working liquid S5 Al
1 Fi /1358 Working pressure range 0~9(900)
ARIER S Proof pressure 10(1000)
RIER S Eh Proof vaccum pressure —-10Kpa(10 Torr)
RITE % Nut circle 10(s)# Circle
1% F3R B S5 Temperature range 5~80
## Material F4& Body R IB(FR) Brass(nickel-plate)
| %1% O12Rc(PT) Connect port M5x08p 1/8" 14" 38" 1/2"
—i ZFEB3% R Tooth gelatinize B3R AXED Offset printing
T
N Y
R
BMEE
AR BE
55

RIFXKFNRIISEhEEL(LEER)

PR EEEATERMSHE. BAEMEMERTES), RAPA. PU. PBREEE@ABEIMNEA ¢ 22mm)RAEEEE, &
HUARREFORR. REZERCEMGBINEFHER DERRRN, BYRRST,
APORA RIS R CRERMTRMNTR,

KFN-ELEA R st

KFN-®4  4x2  M6x0.75 M6 x 1

KFN-06  6x4 M10x1 G1/8” M6x075 12 10 28 7 66821

KFN-®8  8x6 M10x1  G1/8” G1/4" 14 |113" °28 " 7 66822

KFN-©10 10x8 M12x1.25 G1/4” G3/8" 175|155 B30 8 BN S 66823

KFN-©12 12x10 M16x1.5 G3/8" G1/2" 2 18 33 10 66824

KFN-©14 14x12 M18x15 G3/4” G1/2" 278 218 B30 1 128 B 66625

KFN-BELELIHPIRGEL

Nickled-b

KFN-B®4  4x2  M6x0.75 M5 M6x 1

KFN-B®6  6x4 M10x1 G1/8” M6x075 12 10 10 21 66827
KFN-B®8  8x6 M10x1  G1/8” G1/a" 17 13 13 25 66828
KFN-B®10 10x8 M12x1.25 G1/4" G3/8" 19 15 145 285 66829

KFN-B®12 12x10 M16x15 G3/8" G1/2r 24 18 15 31 66830

KFN-B®14 14x12 M18x15 G3/4" G1/2" 27 21 16 34 66831

KFN-L®4 4x2 M6x0.75 M6 x 1 8 21

KFN-L® 6  6x4 M10x1  G1/8" M6x075 12 10 23 7 22 66833

KFN-L®8 8x6 M10x1  G1/8" G1/4” 17 13 24 7 23 66834

.;.l
F—Tﬂ:ﬂwjg[ KFN-LO10 10x8 Mi2x125 G14' G38" 19 15 28 9 26 66835
g st KFN-L®12 12x10 M16x15 G3/8" G1/22 24 18 33 10 20 66836
s
(AL E KFN-L®14 14x12 M18x15 G3/4" G122 27 21 35 12 32 66837

56



